

	BID SPECIFIED			Price	Extended	۸dr	nin Subtotal		ADMINISTRATION REQUESTED		Price	Extended	Subtotal		$\overline{}$	
Oto		Otre		Price	Exterided	\$		Qty	Description	Otre	Price	Exteriueu	\$ 99,804.48		+	
Qty 1		<u>Qty</u>			¢ 2.070.22		78,329.05			Qty	 				-+	
	Principal	_	,	F22 F4	\$ 3,878.32	\$	3,878.32		Added Return, Additional Pedes		1		.y I			
	Desk, Single Pedestal	1	\$	533.54	\$ 533.54				Desk, Return, Two Pedestals	1					\longrightarrow	
	Chair	1	\$	446.15	\$ 446.15				Chair	1	-	\$ 391.07			\longrightarrow	
	Guest Chair	4	\$	216.62	\$ 866.46				Guest Chair	4		\$ 1,345.87				
	Conf Table	1	\$		\$ 557.48				Conf Table	1	\$ 516.12	\$ 516.12				
	Lateral File	1	\$	438.15	\$ 438.15				Lateral File	1	<u> </u>	\$ 580.79				
	Bookcase	2	\$	260.31	\$ 520.62				Bookcase	2	\$ 423.64	\$ 847.28			\longrightarrow	
	Presentation Cabinet	1	\$	515.92	\$ 515.92				Presentation Cabinet	1	1 .		\$ 6,188.32			
1	Asst Principal				\$ 2,111.38	\$	2,111.38	1	•Added Return, Additional Pedes				rs; Updgraded	Quality, Warr	anty	
	Desk, Single Pedestal	1	\$	533.54	\$ 533.54				Desk, Return, Two Pedestals	1	\$ 1,569.12	\$ 1,569.12				
	Chair	1	\$	446.15	\$ 446.15				Chair	1	\$ 391.07	\$ 391.07				
	Guest Chair	2	\$	216.62					Guest Chair	2	\$ 336.47	\$ 672.93				
	Lateral File	1	\$	438.15	\$ 438.15				Lateral File	1	\$ 580.79	\$ 580.79				
	Bookcase	1	\$	260.31	\$ 260.31				Bookcase	1	\$ 423.64	\$ 423.64				
									Student Desk	2	\$ 158.00	\$ 316.00				
									Student Chair	2	\$ 75.00	\$ 150.00	\$ 4,103.55			
1	Conference				\$ 5,466.04	\$	5,466.04	1	•Utilize Collaborative Nesting Tal	les; l	Upgraded Qua	ality, Warrant	y			
	Table	1	\$:	2,001.20	\$ 2,001.20				Tables	4	\$ 676.28	\$ 2,705.12				
	Chair	8	\$	368.62	\$ 2,948.92				Chair	8	\$ 393.40	\$ 3,147.20				
	Presentation Cabinet	1	\$	515.92	\$ 515.92				Presentation Cabinet	1	\$ 938.08	\$ 938.08	\$ 6,790.40			
1	Bookkeeper				\$ 2,111.38	\$	2,111.38	1	•Added Return, Additional Pedes	tal; U	Ipdgraded Qu	ality, Warrant	y			
	Desk, Single Pedestal	1	\$	533.54	\$ 533.54				Desk, Return, Two Pedestals	1	\$ 1,569.12	\$ 1,569.12	ĺ			
	Chair	1	\$	446.15	\$ 446.15				Chair	1	\$ 391.07	\$ 391.07				
	Guest Chair	2	\$	216.62	\$ 433.23				Guest Chair	2	\$ 336.47	\$ 672.93				
	Lateral File	1	\$	438.15	\$ 438.15				Lateral File	1	\$ 580.79	\$ 580.79				
	Bookcase	1	\$	260.31	\$ 260.31				Bookcase	1	\$ 423.64	\$ 423.64	\$ 3,637.55			
								1	•Additional Office not listed in Or	igina	l Request					
									Desk, Return, Two Pedestals		\$ 1,569.12	\$ 1,569.12				
									Chair	1	\$ 391.07	\$ 391.07				
									Guest Chair	2	\$ 336.47	\$ 672.93				
									Lateral File	1	\$ 580.79					
									Bookcase	1	\$ 423.64		\$ 3,637.55			
1	Workroom				\$ 990.71	\$	990.71	1	Utilize Collaborative Nesting Tak					/		
	Table	1	\$	557.48	\$ 557.48	T		_	Table	1	1	\$ 630.93				
	Chair	2	\$	216.62	\$ 433.23				Chair	4		-	\$ 1,976.80			
1	First Aid	-	7	210.02	\$ 2,297.80	\$	2,297.80	1		<u> </u>	7 550.47	7 1,575.07	7 1,570.00		-+	
Ė	Desk	1	\$	936.73	\$ 936.73	7	2,237.00	-	Desk	1	\$ 936.73	\$ 936.73			+	
	Chair	1	\$	391.07	\$ 391.07				Chair	1	\$ 391.07	\$ 391.07			-+	
	Bench	1	\$	970.00					Bench	1	\$ 970.00		\$ 2,297.80		+	
1	Waiting	-	٧	370.00	\$ 1,988.31	¢	1,988.31	1	Updgraded Quality, Warranty		\$ 570.00	7 370.00	7 2,237.80			
┢╧	Chair	3	\$	116 1E	\$ 1,338.46	٧	1,300.51		Chair	3	\$ 391.07	\$ 1,173.20			\rightarrow	
-	Guest Chair	3	\$	216.62	\$ 1,338.46				Guest Chair	3	-		\$ 2,182.60		+	
-	Juest Chall	-	ڔ	210.02	ده.د40 ب				Guest Chair	3	7 330.47	1,003.40	2,102.00		\longrightarrow	



_	We Have II.				4	I .						a		- W	
2	Guidance		<u> </u>		\$ 2,308.06	\$	4,616.13	2	•Added Return, Additional Pede	- 1		1	irs; Updgraded	Quality, Warra	anty
	Desk, Single Pedestal	1		533.54	\$ 533.54				Desk, Return, Two Pedestals		\$ 1,569.12				
	Chair	1	\$	446.15					Chair	1	<u> </u>	\$ 391.07			
	Guest Chair	2	\$						Guest Chair	2	\$ 336.47	\$ 672.93			
	Side Table	1	\$	196.68	\$ 196.68				Student Chairs	2	\$ 75.00	\$ 150.00			
	Lateral File	1	\$	438.15	\$ 438.15				Round Table	1	\$ 554.40	\$ 554.40			
	Bookcase	1	\$	260.31	\$ 260.31				Lateral File	1	\$ 580.79	\$ 580.79			
									Bookcase	1	\$ 423.64	\$ 423.64	\$ 8,683.89		
1	Guidance Reception				\$ 2,344.87	\$	2,344.87	1	 Added Screens, Collaborative T 	ables					
	Round Table	2	\$	557.48	\$ 1,114.96				Moon Table	2	\$ 400.16	\$ 800.32			
	Chairs 18	8	\$	75.00	\$ 600.00				Student Chairs	8	\$ 75.00	\$ 600.00			
	Guest Chair	2	\$	216.62	\$ 433.23				Screens	2	\$ 1,149.87	\$ 2,299.73			
	Side Table	1	\$	196.68	\$ 196.68				Guest Chair	2	\$ 336.47	\$ 672.93			
									Side Table	1	\$ 212.08	\$ 212.08	\$ 4,585.07		
1	Records				\$ 5,856.20	\$	5,856.20	1							
	File Cabinets	10	\$	406.12	\$ 4,061.20				File Cabinets	10	\$ 406.12	\$ 4,061.20			
	Fire File	1	\$:	1,795.00	\$ 1,795.00				Fire File	1	\$ 1,795.00	\$ 1,795.00	\$ 5,856.20		
1	PLC				\$ 3,382.14	\$	3,382.14	1	•Added Collaborative Tables, Co	nfere	nce Seating, C	ustom Marke	rboard, Tiles		
	36 Round Table	6	\$	326.92	\$ 1,961.52				Custom Table	6	\$ 757.12	\$ 4,542.72			
	Chair 16	12	\$	75.00	\$ 900.00				Chair	12	\$ 393.40	\$ 4,720.80			
	Bookcase	2	\$	260.31	\$ 520.62				Bookcase Credenza	2	\$ 870.93	\$ 1,741.87			
									Media Tile	2		\$ 714.73			
									Markerboard Tile	1	\$ 852.00	\$ 852.00	\$ 12,572.12		
1	Cafeteria				\$ 1,574.27	\$	1,574.27	1	Updgraded Quality, Warranty	'					
	Desk	1	\$	936.73	\$ 936.73	Ė			Desk	1	\$ 936.73	\$ 936.73			
	Chair	1	\$	204.31	\$ 204.31				Chair	1	\$ 194.60	\$ 194.60			
	Guest Chair	2	\$	216.62	\$ 433.23				Guest Chair	2	\$ 336.47	\$ 672.93	\$ 1,804.27		
1	Art		Ė		\$ 1,141.04	\$	1,141.04	1	Updgraded Quality, Warranty	,					
	Desk	1	\$	936.73	\$ 936.73		•		Desk	1	\$ 936.73	\$ 936.73			
	Chair	1	\$	204.31	\$ 204.31				Chair	1	\$ 194.60	\$ 194.60	\$ 1,131.33		
1	Music				\$ 1,141.04	\$	1,141.04	1	Updgraded Quality, Warranty	'			. ,		
	Desk	1	\$	936.73	\$ 936.73	Ė			Desk	1	\$ 936.73	\$ 936.73			
	Chair	1	\$	204.31					Chair	1			\$ 1,131.33		
1	PE		Ė		\$ 1,141.04	\$	1,141.04	1	Updgraded Quality, Warranty	'					
	Desk	1	\$	936.73	\$ 936.73	Ė	-		Desk	1	\$ 936.73	\$ 936.73			
	Chair	1	\$	204.31	•				Chair	1	\$ 194.60	·	\$ 1,131.33		
1	PE Storage		Ĺ		\$ 1,854.00	\$	1,854.00	1					1		
	Shelving	6	Ś	309.00	\$ 1,854.00	ľ	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				1				
1	Media	Ť	7	,,,,,,,	\$ 1,382.89	\$	1,382.89	1	Updgraded Quality, Warranty	'					
	Desk	1	\$	936.73	\$ 936.73	7	_,=====		Desk	1	\$ 936.73	\$ 936.73			
	Chair		<u> </u>	446.15					Chair	1			\$ 1,327.80		
1	Computer/Steam	 -	7		\$ 1,141.04	\$	1,141.04	1	Updgraded Quality, Warranty	, -	÷ 331.07	7 331.07	7 2,327.30		
_	Desk	1	Ś	936.73	\$ 936.73	7	1,171.04		Desk	1	\$ 936.73	\$ 936.73			
 	Chair	1	\$	204.31					Chair	1	•		\$ 1,131.33		
	Citali	+-	ڔ	204.31	204.31				Chall	+ -	154.00	154.00	٠,131.35		
	ļ	ļ	ļ			ļ			1	_					



1 SRO		\$ 979.69	\$ 979.69	1	•Added Chair, Mobile Desk; Updg	rade	d Qı	uality, Wa	rranty			
Desk, Single Pedestal	1 \$ 533.54	\$ 533.54			Mobile Desk	1	\$	936.73	\$ 936.73			
Chair	1 \$ 446.15	\$ 446.15			Chair	2	\$	391.07	\$ 782.14	\$ 1,718.87		
1 Vestibule		\$ 2,797.29	\$ 2,797.29	1	•Eliminated Tables							
36 Coffee Table	2 \$ 557.48	\$ 1,114.96			Chair	5	\$	336.47	\$ 1,682.33	\$ 1,682.33		
Chair	5 \$ 336.47	\$ 1,682.33										
1 FRC		\$ 9,368.49	\$ 9,368.49	1	•Changed to Mobile Desk; Updgr	aded	Qua	ality, Warr	anty			
Desk, Single Pedestal	2 \$ 533.54	\$ 1,067.08			Desk	2	\$	936.73	\$ 1,873.47			
Chair	2 \$ 446.15	\$ 892.31			Chair	2	\$	391.07	\$ 782.13			
Guest Chair	4 \$ 216.62	\$ 866.46			Guest Chair	4	\$	336.47	\$ 1,345.87			
Storage/Cabinet	10 \$ 654.26	\$ 6,542.65			Storage/Cabinet	10	\$	652.52	\$ 6,525.20	\$ 10,526.67		
4 Corridor		\$ 4,224.85	\$ 16,899.41	4	•Added Mobile Student Tables, R	educ	ed E	asels				
Activity Table	4 \$ 377.81	\$ 1,511.25			Student Table	3	\$	436.35	\$ 1,309.04			
Student Chair 16	8 \$ 75.00	\$ 600.00			Student Chair 16	8	\$	75.00	\$ 600.00			
Mobile Easel	2 \$ 1,056.80	\$ 2,113.60			Mobile Easel	1	\$:	1,056.80	\$ 1,056.80	\$ 11,863.36		
1 Exterior		\$ 3,865.54	\$ 3,865.54	1	•Updgraded Style							
Exterior Bench	4 \$ 415.38	\$ 1,661.54			Exterior Bench	4	\$	410.00	\$ 1,640.00			
Exterior Receptacle	4 \$ 551.00	\$ 2,204.00			Exterior Receptacle	4	\$	551.00	\$ 2,204.00	\$ 3,844.00		



	We Have It. BID SPECIFIED	1	I	Price	Exten	dod	Cla	ss Subtotal			ADMINISTRATION REQUESTED	•	Price	Extended	Subtotal		
Qty	Description Description	Qty		FIICE	LXCII	<u>ueu</u>	\$	316,070.94	— ,	Qty		Qty	FIICE	LXteriueu	\$ 440,204.60		
	Classrooms 2nd	Qty			\$ 10,6	E2 E0		85,220.64			•Added Bookboxes to Desks, (rs to Tables 8.	 	1		
0	Student Desk	26	\$	158.00		08.00	٦	63,220.04		0	Added Mobile Double Pedes						
	Student Chair 16	26	+		\$ 1,9						Student Desk w/ Bookbox		\$ 187.00			 	
	Teacher Desk/Podium	1	\$			36.73					· · · · · · · · · · · · · · · · · · ·	18		\$ 1,350.00			
	•	_	<u> </u>			04.31					Student Chair, 14	4					
	Teacher Chair	1	\$	204.31		04.31 86.51					Student Chair, 12	4	\$ 72.00 \$ 75.00	\$ 288.00 \$ 300.00			
	Storage/Cabinet	1	+ -	-							Student Chair, 16	-	-				
	Bookcase(s)	2	\$	199.32		98.64					Teacher Desk, Dbl Ped	1	\$ 1,059.47	\$ 1,059.47			
	File Cabinet	1	\$	438.15		38.15					Teacher Chair	1	\$ 194.60	\$ 194.60			
	KidneyTable	1	\$	485.29	-	85.29					Storage/Cabinet	1	\$ 1,286.51	\$ 1,286.51			
	Teacher Chair	1	\$	204.31		04.31					Bookcase(s)	2		\$ 2,353.64			
	Student Stool	5	\$	128.13	\$ 64	40.64					File Cabinet	1	\$ 406.12	\$ 406.12			
											Kidney Table	1	\$ 536.31	\$ 536.31			
							<u> </u>				Teacher Chair	1	\$ 194.60	\$ 194.60			
											Student Stool	5			\$ 107,775.09		
8	Classrooms 1st				\$ 10,5	74.58	\$	84,596.64		8	•Added Bookboxes to Desks, (
	Student Desk	26	\$	158.00	\$ 4,10	08.00					 Added Mobile Double Pedes 	tal Te	acher Desk, A	dded Whiteb	oards to Bookca	ses	
	Student Chair 14	26	\$	72.00	\$ 1,8	72.00					Student Desk w/ Bookbox	26	\$ 187.00	\$ 4,862.00			
	Teacher Desk/Podium	1	\$	936.73	\$ 93	36.73					Student Chair, 14	18	\$ 75.00	\$ 1,350.00			
	Teacher Chair	1	\$	204.31	\$ 20	04.31					Student Chair, 12	4	\$ 72.00	\$ 288.00			
	Storage/Cabinet	1	\$ 1	1,286.51	\$ 1,2	86.51					Student Chair, 16	4	\$ 75.00	\$ 300.00			
	Bookcase(s)	2	\$	199.32	\$ 39	98.64					Teacher Desk, Dbl Ped	1	\$ 1,059.47	\$ 1,059.47			
	File Cabinet	1	\$	438.15	\$ 43	38.15					Teacher Chair	1	\$ 194.60	\$ 194.60			
	KidneyTable	1	\$	485.29	\$ 48	85.29					Storage/Cabinet	1	\$ 1,286.51	\$ 1,286.51			
	Teacher Chair	1	\$	204.31	\$ 20	04.31					Bookcase(s)	2	\$ 1,176.82	\$ 2,353.64			
	Student Stool	5	\$	128.13	\$ 64	40.64					File Cabinet	1	\$ 406.12	\$ 406.12			
											Kidney Table	1	\$ 536.31	\$ 536.31			
											Teacher Chair	1	\$ 194.60	\$ 194.60			
											Student Stool	5	\$ 128.13	\$ 640.64	\$ 107,775.09		
8	Classrooms K				\$ 10,5	74.58	\$	84,596.64		8	•Added Bookboxes to Desks, (5	
	Student Desk	26	\$	158.00		08.00					•Added Mobile Double Pedes	tal Te	acher Desk, A	dded Whiteb	oards to Bookca	ses	
	Student Chair 12	26	_			72.00					Student Desk w/ Bookbox		\$ 187.00				
	Teacher Desk/Podium	1	\$	936.73		36.73					Student Chair, 14	8	\$ 75.00	\$ 600.00			
	Teacher Chair	1	\$	204.31		04.31					Student Chair, 12	18		\$ 1,296.00			
	Storage/Cabinet	1	<u> </u>	1,286.51	·	86.51					Teacher Desk, Dbl Ped	1	\$ 1,059.47	\$ 1,059.47			
	Bookcase(s)	2	\$	199.32	· ·	98.64					Teacher Chair	1	\$ 1,108.37	\$ 1,108.37			
	File Cabinet	1	\$	438.15		38.15					Storage/Cabinet	1	\$ 652.52	\$ 652.52			
	KidneyTable	1	\$	485.29		85.29					Bookcase(s)	2	\$ 1,176.82	\$ 2,353.64			
	Teacher Chair	1	\$	204.31		04.31					File Cabinet	1	\$ 406.12	\$ 406.12			
	Student Stool	5	\$	128.13	<u> </u>	40.64					Kidney Table	1	\$ 536.31	\$ 536.31			
	2323011100001	1	_		7 0						Teacher Chair	1	\$ 194.60	\$ 194.60			
											Student Chair	5	\$ 75.00		\$ 107,552.24		
											Student Chan	,	75.00	3/3.00	7 107,332.24		1



4	MSD				\$ 7,583.30	\$ 30,333.20	3	•Removed Student Desks, Adde	d Ca	asters to Table	es, Changed f	rom Vertical to I	ateral File	
	Student Desk	6	\$ 1	158.00	\$ 948.00			 Added Steam Table; Upgraded 	Qua	ality, Warrant	у			
	Student Chair 14	12	\$	72.00	\$ 864.00			•Removed One MSD Room		-				
	Teacher Desk/Podium	1	\$ 9	936.73	\$ 936.73			Kidney Table	3	\$ 536.31	\$ 1,608.93			
	Teacher Chair	4	\$ 2	204.31	\$ 817.23			Student Chair 14	12	\$ 75.00	\$ 900.00			
	Storage/Cabinet	1	\$ 1,2	286.51	\$ 1,286.51			Teacher Desk, Dbl Ped	1	\$ 1,059.47	\$ 1,059.47			
	Bookcase(s)	2	\$ 1	199.32	\$ 398.64			Teacher Chair	1	\$ 194.60	\$ 194.60			
	Locking File Cabinet(s)	2	\$ 4	438.15	\$ 876.31			Storage/Cabinet	1	\$ 1,286.51	\$ 1,286.51			
	Kidney Table	3	\$ 4	485.29	\$ 1,455.88			` ,			\$ 594.00			
								Lateral File Cabinet(s)	2	\$ 877.36	\$ 1,754.72			
								Activity Table	1	\$ 408.81	\$ 408.81			
								STEAM Table	1	\$ 1,194.19	\$ 1,194.19	\$ 27,003.71		
4	Classrooms Pre-K				\$ 7,830.96	\$ 31,323.84	5	•Converted all to Early Learning	Fur	niture, Additio	onal Storage,	Kitchen Playset		
	Student Chair 12	26	\$	72.00	\$ 1,872.00			•Soft Seating, Rug, Added Mobi	le D	ouble Pedesta	al Teacher De	sk, Easel		
	Teacher Desk/Podium	1	\$ 9	936.73	\$ 936.73			•Added One Additional Pre-K Ro	oom					
	Teacher Chair	2		204.31	408.62			Mobile Bookcase	2	\$ 402.34	\$ 804.68			
	Storage/Cabinet	1	\$ 1,2	286.51	\$ 1,286.51			Combo Storage	2	\$ 642.88	\$ 1,285.77			
	Bookcase(s)	4	\$ 1	199.32	\$ 797.28			All Purpose Storage	2	\$ 506.43	\$ 1,012.85			
	Activity Table 30x60	4	\$ 3	350.97	\$ 1,403.89			Spacemaker Storage	1	\$ 849.91	\$ 849.91			
	Kidney Table	1	\$ 4	485.29	\$ 485.29			Clear Tote Bins	30	\$ 7.09				
	Student Stool	5	\$ 1	128.13	\$ 640.64			Preschool Storage	3	\$ 434.97	\$ 1,304.91			
								Bookstand	1	\$ 312.29	\$ 312.29			
								Writing Desk	1	\$ 471.90	\$ 471.90			
								Kitchen Set	1	\$ 1,372.87				
								Privacy Cube	1	\$ 311.40	\$ 311.40			
								Comfy Couch	1	\$ 649.34	\$ 649.34			
								Comfy Chair	1	\$ 497.06	\$ 497.06			
								Spot Rug	1	\$ 490.00	\$ 490.00			
								Step Stool	2	\$ 157.74	\$ 315.47			
								Student Chair, 12	17	\$ 72.00	\$ 1,224.00			
								Student Chair, 14		\$ 75.00				
								Table, Round, 42		\$ 258.72				
								Tabel 30x48		\$ 323.91	•			
								Table 30x72		\$ 385.04				
								Mobile Media Cart	1	\$ 1,286.51	\$ 1,286.51			
								Teacher Desk, Dbl Ped	1	\$ 1,059.47				
								Teacher Chair			\$ 194.60			
								Mobile Easel	1	\$ 1,056.80	\$ 1,056.80	\$ 81,450.94		
							1	Added One Therapy Room						
								· ·		\$ 75.00				
										\$ 350.97				
									_	\$ 1,059.47				
								Teacher Chair	2	\$ 194.60	\$ 389.20			



				Mobile Easel	1	\$ 1,056.80	\$ 1,056.80	\$ 4,866.89	
			1	•Added One Indoor Gross Mo	tor Ro	oom			
				Corner Couch	2	\$ 239.00	\$ 478.00		
				Straight Bench	4	\$ 362.00	\$ 1,448.00		
				Storage Bench	2	\$ 398.93	\$ 797.85		
				Mobile Easel	1	\$ 1,056.80	\$ 1,056.80	\$ 3,780.65	



	BID SPECIFIED			Price	Extended	Special Subtota	Action Tota	<u>A</u>	DMINISTRATION REQUEST	ED	<u>Price</u>	Extended	Subtotal	Action Total
Qty	Description	Qty				\$ 85,314.2	0 \$ 479,714.1 9	9 Qty	Description	Qty			\$ 143,014.40	\$ 683,023.48
15	Resource				\$ 2,471.28	\$ 37,069.1	8	13	•Reduced Room Qty to 13	, 3, Add	led Student Cha	air, Casters to 1	Table	
	Kidney Table	1	\$	485.29	\$ 485.29				Kidney Table	1	\$ 536.31	\$ 536.31		
	Teacher Chair	1	\$	204.31	\$ 204.31				Teacher Chair	1	\$ 194.60	\$ 194.60		
	Student Stool	5	\$	128.13	\$ 640.64				Student Chair 14	6	\$ 75.00	\$ 450.00		
	Teacher Desk	1	\$	936.73	\$ 936.73				Teacher Desk	1	\$ 936.73	\$ 936.73		
	Teacher Chair	1	\$	204.31	\$ 204.31				Teacher Chair	1	\$ 194.60	\$ 194.60	\$ 30,059.16	
1	Media Center				\$ 22,117.73	\$ 22,117.7	3	1	 Added Casters, Updated 	Lami	nate Bookcases	, Added Soft S	eating w/Tables	& Stools
	Bookcase(s)	9	\$	823.20	\$ 7,408.80				•Replaced Chairs w/Stool	s; Up	graded Quality,	Warranty		
	Bookcase(s) Curved	4	\$ 1	1,352.79	\$ 5,411.15				Bookcase(s)	13	\$1,176.82	\$ 15,298.66		
	36 Round Table	6	\$	326.92	\$ 1,961.52				Tables, Personal	2	\$ 196.68	\$ 393.36		
	Chairs 16	26	\$	75.00	\$ 1,950.00				Tables, Medium	2	\$ 557.48	\$ 1,114.96		
	Soft Seating	1	\$ 5	5,386.27	\$ 5,386.27				Tables, Large	2	\$ 715.44	\$ 1,430.88		
									Stools w/Footrings	20	\$ 203.82	\$ 4,076.40		
									Soft Seating	10	\$ 5,194.36	\$ 51,943.60	\$ 74,257.86	
1	Computer/Steam				\$ 7,428.27	\$ 7,428.2	7	1	 Added Casters to Tables 	; Repl	aced Stools wit	h Chairs		
	Tables 24x48	12	\$	341.41	\$ 4,096.96				Tables, 30x60	12		\$ 4,905.76		
	Stools	26	\$	128.13	\$ 3,331.31				Chairs 14	26	\$ 75.00	\$ 1,950.00	\$ 6,855.76	
1	Music				\$ 2,025.00	\$ 2,025.0	0	1	•Replaced Chairs with Cu	shion				
	Chairs	27	\$	75.00	\$ 2,025.00				Cushions w/Carrier(s)	27		\$ 5,590.20		
									Risers, 4/set				\$ 12,324.20	
1	Art				\$ 5,341.93	\$ 5,341.9	3	1	 Upgraded Tables, Added 	Cast	ers, Replaced C	hairs w/Stools;	Upgraded Qual	lity, Warranty
	Tables 36x48	6	\$	377.81	\$ 2,266.88				Star Tables	6	\$ 963.25	\$ 5,779.52		
	Chairs	24	\$	128.13	\$ 3,075.05				Stackable Stool	24	\$ 100.65	\$ 2,415.52	\$ 8,195.04	
1	Cafeteria Receiving				\$ 1,854.00	\$ 1,854.0	0	1						
	Shelving	6	\$	309.00	\$ 1,854.00				Shelving	6	\$ 309.00	\$ 1,854.00	\$ 1,854.00	
1	Custodial/Storage				\$ 1,759.04	\$ 1,759.0	4	1						
	Shelving	2	\$	309.00	\$ 618.00				Shelving	2	\$ 309.00			
	Desk	1	\$	936.73	\$ 936.73				Desk	1	\$ 936.73	\$ 936.73		
	Chair	1	\$	204.31	\$ 204.31				Teacher Chair	1	\$ 194.60	\$ 194.60	\$ 1,749.33	
2	Closet				\$ 3,859.52	\$ 7,719.0	4	2						
	Mobile Shelving	3	\$ 1	1,286.51	\$ 3,859.52				Mobile Shelving	3	\$ 1,286.51	\$ 3,859.52	\$ 7,719.04	
	<u>ADDITIONAL</u>						Total							
32	Magnetic 4x6 Whiteboa	rd	\$	499.48	\$ 15,983.36		\$ 15,983.30	6						
								_						
	Prices are valid for 30 days	. Unle	ess ot	therwise re	quested, pricing	g includes delivery a	nd installation. Pri	icing is based	on the purchase of the entire	order	Should portion	s not be accepte	ed, increases coul	d occur due to
									unting@actionbusiness.com.		•		•	
	we appreciate your busine	_												
	., ,							Acce	pted:					
	Sincerely,													
	- 17							Sign	ature:	1	I	Date:	1	
	Brian N. Downs							3.4						
	Action Business Supplier	-					1	Title						